
06.32 Нефтяной отопитель (детали) 
 

 
 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 9907001970 Кожух передний  
002 9907000390 Канал всасывания  
003 9921006340 Горелка  
004 9907000410 Прокладка  
005 9907000420 Теплообменник  
008 3091116540 Болт M4 x 8 ISO 1207 - 5.8 MKS 720 
010 4435220480 Свеча накала PAL 35.52 
011 9907000450 Крышка защитная  
013 3091132780 Болт самонарезающий 3,9 x 9,5 ISO 1481 - St MKS 720 
015 9907000470 Прокладка  
016 3091132780 Болт самонарезающий 3,9 x 9,5 ISO 1481 - St MKS 720 
017 3111108290 Шайба пружинная 6 CSN 02 1740.0 
020 9901002630 Шайба 4,3 CSN 02 1733.0 
021 9907000500 Термостат  
023 3111108280 Шайба пружинная 5 CSN 02 1740.0 MKS 720 
025 9907000520 Крышка защитная  
026 9901002780 Шайба 5,3 CSN 02 1733.05 
028 9907000540 Защита от перегрева  
032 9907002030 Насос 24 V 
033 3091116560 Болт M4 x 12 ISO 1207 - 5.8 MKS 720 
034 9907000580 Скоба  
035 9907000570 Хомут  
037 9907000580 Скоба  
038 9907002050 Вентилятор  
040 9907002070 Держатель двигателя  
041 9907002080 Электродвигатель  
043 9907002100 Втулка  
044 3091113130 Болт M6 x 14 ISO 4017 - 5.8 MKS 720 
045 3111108290 Шайба пружинная 6 CSN 02 1740.0 
047 3091105520 Болт M6 x 35 ISO 4014 - 5.8 MKS 720 
048 9907002110 Корпус  
050 3119013010 Кольцо уплотнительное 8 x 14 CSN 02 9310.2 
051 4439600110 Шланг топливный  
053 9907002130 Кожух двигателя  
055 3091116540 Болт M4 x 8 ISO 1207 - 5.8 MKS 720 
056 3111100570 Гайка M4 ISO 4032 - 5 MKS 720 
057 3091116530 Болт M4 x 6 ISO 1207 - 5.8 MKS 720 
058 4439600040 Клапан электромагнитный 24 V 
062 9907000670 Радиальное колесо  
063 9907000680 Распылитель  
064 9907000690 Кольцо  
065 9907000700 Шайба  
066 9907000710 Втулка распылителя  
067 9907000720 Прокладка  
068 9907000730 Камера сгорная  
070 9907000740 Эхранизуйущее кольцо  
071 9907000750 Кольцо  
072 9907000760 Эхранируйущее внутернее  



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

074 9907002140 Поводок  
076 9907005200 Шланг 6/12 272 327 007 
077 9907005330 Электролампа 24V/4W 925947 
079 3111123800 Штифт 3 x 16 A ISO 2338 - St MKS 720 

 


	06.32 Нефтяной отопитель (детали)

